9. Volume NOTES.notebook

Starter - NO Calculators

1) Find 20% of 248 2) Find 3%- 1%
b'a../.:‘“‘ i-i-“ _3_5
tzo’/. = 446 5 4 2 22‘?

—
20
) Find the highest common factor of 14 and 49. -3‘ ~ ’%
0= 263 Z4%
4) Find 35% of £80. 5) CaIcuIate 256 + 64, 8
1.20 i
56,,,_’1"-26 _ 32 == 4
¥ 94c 128 _ 64

3) If the volume of
this cuboid is 432
ml, find its height.

1) Find the volume | 2) Find the volume
of this cube in cm3: | of this carton in ml:
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= 545 H15 % 6em

V= 1635 oD ST
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V=(-Sx|Sxis =2/6an= 3
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January 19, 2017

Today's Learning:

To revise volume of cubes, cuboids and prisms.

>
Calculate the total volume of the object:
of*_
12 em 12 cm \ *,

I' arionb _ o 0 @v=5x(3x20
e @ W0 OV
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Volume of Prisms W=
A prism has the same cross-section all the way through its

height.

Volume = cross section area x height |

Eg. 1) .
T e \/= Areax hu)'lﬂ‘
= 4x10
= |%0om
Area = 18cm?
Starter
1) Solve for g: ©+1=Zg+3 _‘2:‘0
=Na+\&| -0 =
23-1-6 3‘1‘ :.5": i
{

IZj-l- (2 )
2"9 on‘.%

2) Without a calculator, find 0.34 x 1.3

2 x3= 442 D
Bhriz= 442

O-3KRIR = & 42

6-3¢n|lB =0- 442 3“’

3) Calculate 2 + 3(1 + 33 -3 x6
- 2436 0- k4

- 10)-3%6
-%.1%2-3% 2¢%0-16= k.

4) If all the numbers from 1 to 20 are written on cards, and I
pick a card at random, what is the probability that the
number I pick is prime?

f csan n.Ou.lsugu&qo
0000 20
200" 5
5) Multiply out and simplify: 2T -2(T +1-37)
ply p 20
=2T-2T-24€T
=-2%6T
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Find the volume of these objects:

7]cm
Ly

\‘t’>°

12cm
Va - éxa+ 2*
'57Som

= 1210, v " mzm 2"°°"
Volume of a Cylinder If.“"?

*not given in exams

—_—

50cm

Example 1:

Find the volume in litres, to 3 sig. fig.
=R r=2%m
= NyS 230 3
= 13F big -CF.-.oM
= |'}’-l,000c"|’ (354‘-)

70cm
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2) Find the volume of the trough

in litres, correct to 2 d.p.
2
24 cm| I-5m
150

\I=1T7'l'\
=27 l 4323. €053

=Ty 2§ xSo

+2
Uﬁ.d\ - 135,716 .8026 cm>
=135316-toem® (24p)

Starter: Find someone who can tell you the answel
1) Without a calculator, find 0.23 x 1.2 r).')_

2) Factorise 3m? -4m ) (3"\ -‘t )
X

3) Multiply out the brackets: 4T(3 - 2T) IlT -"fT

4) List all the primes between 10 and 20 ||,|">,|"|'| ‘q-%-

5) Find the product of a half and a quarter ';:'I G =
6) Round 3.0472 to 3 significant figures '5 . 05

7) Take 10% off £35.50 E‘g(ﬁﬁ 13 55

8) Divide 500 by 0.5 '000

January 19, 2017

This is a section of a water pipe.
The inside of the pipe has a diameter of 17 cm.
How much water can this pipe hold?

[7+=2= S 23 cm‘ @
3.2m

Vi =T h H0em
e 1';(57\{5?0 ,
=FURL.on

=3 m| (3 ‘
el

Find the radius of the can.

V= Tr"k
B 850 =Tvrt v 19
- =14
500 -l
% ?'
9 - .
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Challenge: This wrapper is curved around a can so its edges

just meet. What is the volume of the can?

Yummy Dog Food

Volume of a Cone Wl "?‘

*given in exams

e.g. 1) Calculate the volume of this cone.

V~—h1nr x"‘
15 %12‘\

20 cm - = "l‘"fooC'z {35 (’
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Today's Learning:

To calculate the volume of any cone.

2) Calculate the volume of this shape.
1 0OV= L vth
" = 3'l'x 5 * ‘3
28 cm AN - ,9_‘0 'Sﬂsq
\[=1‘(1'h
15cm @ =% 5’1, IS
= 17%-04%

< o DI H\(FS-00F
Totel vel Y0y :|5ﬁ'l|’¥.--¢"’

= 1514 Yer? (Ldp)

10 cm
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18 cm
This cone can hold 2 litres.
Calculate the height of the
cone.

3 e »\
lOOOam = ':\a'”q ’h

A h
2000.3 L‘IQ‘L . ('ZSﬂ

e.g. 2) Find the volume of this hemisphere.
s Y
—_— = -'-"-n x “1-
28 cm
= 11494 -0k on

v‘m. 57470l

= 53000m (’Bf )
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Volume of a Sphere 2 || “'_7.

7
V=?1Tr3

e.g. 1) Find the volume of this sphere. N
O V 3 ~;r a3
o ;«1)‘6
- qou H¥b..cm
- b (36

Find the volume of this object, made up of a hemisphere, a
cylinder and a cone:

V= :%'l'r‘s 20 cm V= %1‘1@1
AV G . 7

R
TSN 0k ot LT kIO _ 100.50m

=30?-6eny?
E#LS o



9. Volume NOTES.notebook

Starter

a
1) Multiply out the brackets@iz -7 6T-’5T

2) Factorise by taking out a common factor: 4mn + 2m?

1
3) Calculate 5 + —

5 O
1

5B g

5) Calculate 2.3 x 4 q 9_ !q__‘l_ag-_

2
4) Calculate — x —
5 3

Volume of a Pyramid b’ |,|?.

3 il 2em (20 ™)

V=1

3 X base area x perpendicular height

Camayien, V=ghh

e.g. 1) Find the volume of this square based pyramid.

Nrea= LB
- §rb=Gham
V=3hh
3‘ «Lerl= 296em’

12 cm

January 19, 2017

The volume of this sphere is 418
Calculate the radius of this sphere.

— 3
V—-%-Tr

3
Ll.lﬁq :’%-'I‘T)‘r
% r’: 006 -05

&

| - -‘I")‘f

¢ m;é___ﬁ r=;lmao05
41945 =77 2 10-0m (35F)

A cylindrical beaker shown on the left is full of water. If the
water is poured into the beaker on the right, will it overflow?
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The rectangular block of metal shown is melted down to
make metal balls with radius 1 cm. How many balls can be

made?

1) Multipl he b kStagtgz’ 2)
ultiply out the brackets: e+ 3b
2+ 6b
2) Without a calculator, calculate % - E 2

11
B % =2 T3
35 232 H

3) Find the lowest common multiple of 12 and 10. €0
') = 220

wWf= £3.% 5‘/.=1|°
5) If the numbers 1 to 100 are written on cards, and I pick one
out at random, what is the probability the card has a 9 on it?

4) Decrease £200 by 45% ; "0

—

(o0
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A paperweight is made of solid plastic. It's height must be 6
c¢m. The manufacturer must decide between the cone and
pyramid shown. Which one requires less plastic to make?
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